D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH -10 TO 10 Name:
Time: Score: y—
) 4085 = (—5) = w0 —250 = 1 =
) 6899 = § = W) 57808+ 9 =
1) 49451 + 8 = 199 683 + (—5) =

s 71498 + 10 =

w) =774+ (=1) =
w6 —8797 + (—1) =
187 6023 =5 =

159 —15667 + (—3) =
189) 13508 = 2 =

w0) 77425 + (—10) =
9910020 + (—8) =
192) 9492 = 2 =

193) 6741 = 6 =

09 —81856 + (—9) =

195 —19936 + 5 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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61469 + (—7)
—5835 =+ (—2)
—22382 +4 =
—40187 + 5 =
17823 + 3 =
—4229 + (—1)
42172 + (—6)
37361 + (—4)
10665 = (—2)
2209 =5 =
4390 =2 =

19688 + (—3)
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